®

@Modular

Assembly Technology

PTS4 Pallet Conveyors
Instruction & Maintenance Manual

PTS4 FERMNA LB R 4

L
N

First time user must read this instruction

BRI R INFUF A SIS B IA

RKEEERTIARFARBRAF
Modular Assembly Technology Co., Ltd.



®

C&ngodular

Initial Operation Notice

B X E R A

The chain shall be fully lubricated before first use. See Page 8 for detailed
operation instructions.

BRERR, DWINNERZNHTES, BEBRIEIFENS 8 W,
Overload circuit breaker must be installed (it will be provided by customers), to
avoid the motor damage by overcurrent.

BRI 3T EMTESES (BFPB%) , T RBERIESHBRAR.
Reverse direction operation of PTS4 is not permissible, which might be damged

and cannot be fixed. First operation should be controlled within 2 seconds, please
check if the conveying direction of chain is right.

(The frame structure of PTS4 operating in both directions is as below.)

ANFMFTR PTS4 Fixl 2R R ANk, SUIESXNRSBIEANTPEHRIA, 8Ria
TRREEHNASE (RK 27)) , RE®XTTLHAZSIER,

(T IE/RFRE PTSA 4nxfl, INEBEW FEMAR) -

Page 1
F1IM




®

@Modular

Assembly Technology

If the product is received in parts, please follow the below assembly instruction.

WRENBINZ RS ITI b, BRRU MR TR K.

Join the section parts together according to
the drawing if the conveyor is made of two or
more sections parts.

WRIBEVRIEN LA RITBHME DN ZE D
A, BERAERSAAREN—IK,

Mount the section parts on leg sets where the
layout indicates.

ZITERINREIRLRONE, RiREITS%
IREBITEEA —i,

M8X10 M8X25
G}[@G Nm Q}[@ 13 Nm
Page 2
H2M



®

@Modular

Attach the drive unit and driven unit on the
conveyor section.

RN RITTADMNINRITTL KA LIARETT o

@x2

M8X25 M8X25
@{@ 13 Nm ®{@ 13 Nm



®

Cx-\Modular

Assembly Technology

Lay the chain around the chain shaft as shown in the figure
to avoid chain damage from twisting during the chain installation
process. (Twisted chain can not be used).

REMRERREERES L XFIYUB I FEREZALRE
PRAHITMIRA GRITEERAERER) -

7777

8 0 Be?

|47 \“\‘\“\‘\‘

The initial distance
HIE R

Reference value of spring installation of PTS 4 tensioning unit / PTS 43 X {8 & LS MK

Conveyorlength | 51 |3y<L<4m|4m<L<5m|5m<L<6m|6m<L<7m|7Tm<L<8m|8m<L<ImOm<L<I0miOm<LE I mitm<L<12m
SZRKE

The initial distance | 108 o | 104mm | 102mm | 100mm | 9%8mm | 96mm | 9%4mm | 92mm | %mm | 88mm
IO E

Guide one end of chain with steel wire (® 2 mm recommended) going into lower part of drive
unit, through lower surface of conveyor, and encircling the driven sprocket and drive sprocket.
Then connect the ends of the chain with chain slipknot. (If the chain installation is operated by
customer, please press the spring to the dimension as shown when connecting the chain.)

RERN—InANZ GBI 2mm B) 2SINKMNEIT FOTA, BEAETESRY, SKUM
MEITTHMN N, B LEEARMInES!, SUXNIRNNTEE, RERAERERT—R (5
BREEBTREHER, FENBERNREAESANDEKE, B EEDRENYIEEELER
BIZR&E. )

Page 4
F4M



®

C&ngodular

Assembly Technology

Below is the view from conveyor
lateral motor(in the right drawing)

TNIORNEBEEEIMUBHLIRAL AR

Self tightening device
of chain
HERE K EA

Y\
oy )

Y <30 mmfy, ERBKENIEHRMRIA;
30 mm <Y <55 mmiy, RNIESERRTS;

55 mm <Y < 65 mmiy, BRIKFBEHIE 2 D;

Y 265 mmiy, BkRENBEE~ERRSARRNTERRIN
When Y < 30 mm, the self tightening device of chain will be damaged;
When 30 mm <Y < 55 mm, it is normal operation status;

When 55 mm < Y < 65 mm, the chain need to be removed for 2 sections;
When Y = 65 mm, the self tightening device will be with abnormal noise, or damaged.

It is normal that the chain becomes longer gradually due to assembly
process, continuous tension (due to loading on the conveyor) when the
conveyor is running and deformation of the chain section due to tension.
In order to avoid influence on PTS4 load capacity and reduce the failure potentially caused by
longer chain, the conveyor is equipped with self tightening device to adjust the loose chain. As
indicated, Y = 30mm when delivery. When Y <30 mm or Y > 55 mm, the conveyor shall stop for
maintenance to avoid irreversible damage to the conveyor. During the seasonly check, if Y > 55 mm,
that means the chain is loose and shall be removed for at least two sections to reduce the length.

BTFSHRE NER. sfTIEPHESNOREDEEZ NEEHRN, #RKEREIE
0, XRESENR. NBERERIEKFIBNVEEEED, B TEEBIRRESIROVHE, AW
A B HREMKENE. WEPR, BN, MRO Y MIENHEE Y 230 mm, R
Y <30 mmzg Y > 55 mmiy, HFZHTENLER, URXNIRSENATLEENRD. E8FE
BBHTEIRED, S&IY > 55 mmiy, REABERIENM, F2RUERE DD BT
TKE, 2REDERR 2 HEET.

Note: When Y < 30 mm, the conveyor shall stop for maintenance, or the conveyor shall be
damaged.
AR Y <30mmby, DAUSHIRE! SRV SR

M6X30 M12X25 M8X25
®{@8 Nm ®{§W“48 Nm %Wm 13 Nm

Page 5
FE5M



®

@Modular

Assembly Technology

With help of (a) level instruments, level the conveyor longitudinally and laterally by adjusting
(b) pivot leveling feet under the stand supports. Fasten (c) nuts on the feet after adjustment. Fix

the conveyor on the ground with (d) expansion bolts.

A (@) ZKFERFIKIAY (BIUERBERSEIKN) WXL RO CH TR IE R,

VTR OB (b) MUES IRIAEIR K. BRSTANE, M EBY () IREHIR. &G, A (d)

BAKIRIE R L EEEE L.

s

Ox4

Note: 1.1. Longitudinal tolerance should be within 2 mm (Per 5000 mm conveyor).
1.2. Transversal tolerance should be:
within 0.4mm (Bwr < 500 mm), within 0.6 mm (Byr > 500 mm) .
AR LLY@KARE: 8 5000 mm £&4K, BT 2 mm,
1.2. BEKFIRE: Y Byr < 500 mm, {78 0.4 mm;
Y Bywr > 500 mm, NAEEIY 0.6 mm,

M12 M12 M8
Q{% 20 Nm ®{% 20 Nm @{% 13 Nm
Page 6
F6M



®

C&ngodular

Assembly Technology

Modular Pallet conveyors are designed and produced for a long life cycle, but correct maintenances
are required timely. These include the cleaning, replacement of damaged parts and preventive
measures. The measures should be scheduled daily, weekly, monthly and quarterly.

Modular FERHIF RSB KOERFRIRIT T, RMEBTE2RIENFERNLEr. 215
ZNESH RN SRR B . FHETOIERI4Er TIE, 815 NXNB4%r, B4%Er, B4
FPRZELER,

Before running the conveyor each day, please check and remove small parts or fragments in the
chain which may damage the conveyor.
BBTHEI, KNENBREURETEofER LS, BARHAZBERSNENERPEEM

RSN

Clean the dust on the surface each week.
BABEGIRSRES.
Note: cleanser that might corrode metal can not be used.
TR NEERREBEMEENESH .

Check the fasteners that may loose and tighten them with wrench each month. Check whether
the chain need to be lubricated, if yes, see the Chain Lubrication instructions page 8 for
operation to ensure long service life (Except for maintenance free chain).
SRAKNETRMBNRENE, FEANNERTF R, KERXEERDEE, UREBESR
35 8 T1 (EERAE) RO TIRIE, URIERKEUERTGm (REFFERERIN -

Note: lubricant that might corrode UHMWPE, POM, Nylon or rubber etc can not be used.
TR NEERTERMBENTERM, POM, BL, BRSNEVEBS.

Page 7
ER



®

C&ngodular

Assembly Technology

Check if the chain is loose seasonally. If necessary, the chain length need to be shortened by

removing chain knots. (Refer to step F in installation instruction)

BEENE, ERNRARIEREONM. WREVR, BIUE

(RS RLZELRF)

FREEPBDARBRAERKE.

The chain shall be lubricated before starting the equipment. Lubrication method: the whole chain
need to be lubricated. It is suggested to use Shell 15W40 machine oil. 2~3 ml of oil per meter.

See figure 1 for lubrication point.
The equipment shall be re-lubricated after stop for more than 6

months. The redundant lubricating

grease, oil or other impurities need to be cleaned before lubrication. Check whether there is worn
or extended chain during lubrication process. The lubrication method and oil volume are same as
first use. It is suggested to re-lubricate the chain if no exact stop duration is known.

When the equipment is in normal use, the chain shall be lubricated each 1000 hours. Little
lubrication oil each time is suggested. It is about 2 ml lubrication oil per meter (maintenance free
chain excluded).When the equipment is in humid environment, it is necessary to shorten the

lubrication cycle according to the situation.

It is suggested to use AL automatic lubrication system. It will
provide the even lubrication on the chain during the running
process. See figure 2 for lubrication point.

BATHLAEI, S#RVWITEE, BEBHI: FRUEEER, AKX
202 ~3ml/BKEVHE (HEFEARISWAOTHENLH) 685 %
B, EBRUE 1w

RBIE, 6 PTHXBEKRNBG, TREMBB, HEBRER
PR EZROVEBEE. WsHEEMRR; THTEBN, &
DR BRI ERERSEBRBK; BBEOINIFHESE
RITAABE

WRANBRIRBIEATZA, BUEHTEIIGES.
RJEBEMN, X7 1000 /)\NESEBE—R, S8RDVEHE
B, BKERERL 2 mBEBH (REFERERIN) - 1REBG
TIMNRRERAN, ZFZ2REXNNEREITEBEHR,

B EFER AL BiEBASR, TREBAIRSTTUEDXHE
THTREEENDIBE, BBERUE 2 Ao

Page 8
F8M

Fig.1 ®1

Fig.2 &2

AL Automatic Lubrication System

ALBIEBARS




®

Modular
Assembly Technology

" A
&

AL automatic lubrication system will provide the even lubrication
on the chain during the running process, the lubrication oil per
meter is 0.85 ml/100 h min (= 8 g/1000 h). Refer to Figure 2 for
lubrication point.
ALBIEBAAEREIRBETUEPNERHTREEEN
SEE, BX&AESESEE 20.85 ml/100 h (=8 g/1000 h) ,
BBRUE 2 F.

Fig.2 &2

AL Automatic Lubrication System

ALBIEBARAS

The setting of Automatic Lubrication Circle

ShENISEE b

Reference value of lubricating circle for 120 ml oil tank (month) / 120 miff&E8ERsEE (B)

Conveyor length/Aanx s r K E Im | 2m | 3m | 4m | 5m | 6m [ 7m [ 8m | 9m |[10m|11m|12m
Carbon steel chain/FRENGER 12 9 6 5 4 3 3 2 2 2 1 1
Reference value of lubricating circle of 250 ml oil tank (month) / 250 mifiEEgsFE=ZE (B)

Conveyor length/Anx s A K E Im | 2m | 3m|4m | 5m | 6m [ 7m [ 8m | 9m |10m |11 m|12m
Carbon steel chain/FRiNgEs 12 12 12 10 8 6 5 5 4 4 3 3

The Setting of Automatic Lubrication Pulse
BRI E
y [h]
25
\
20 H\ x [m]: Conveyor length
\ HREAKE
15 \ y [h]: Tpe i{lt\erval\ of pulse lubrication
_ OPEBNIER
1): Reference value /Impulse for
10 chain in carbon steel: 0.26 ml
IRINEERBAXPBIFIE . 0.26 ml
5 1)
7
0
1 2 8 4 5 6 7 8 9 10 11 12
X [m]

Note: 1. The length difference of lubrication lines is 10 mm max. Different length of

lubrication lines may lead to unequal distri

resistance.
T2 1 EaEENKEZERZE <10 mm,

SECBBFIDECA 2

Page 9
F9M

bution of lubrication oil because of uneven flow

ANEEEBEEKEBTAQEYRE NS



®

C&ngodular

Assembly Technology

Note: 2. The lubrication line must always be located lower than the lubrication pin,
otherwise the lubrication line runs dry (uncontrolled oil leakage, air bubbles form in the
tubing).

3. Please fill in the lubrication lines with oil before the first operation. For example, Actuate
the lubrication system by pressing button in the PLC control until the oil is spilled out of the
line. (the details please refer to the mannual of AL lubrication system).

AR 2. BBEBMIRMEERRN N, BEBHEAZITRE, TEEEBFEATE,
BRI EREERS.

3. ERTRNEDHEREE, AN, BIFEEIRS PLC i£Hlds FoVR (XN BmEBR
TOERF , BEESEBFIMNBEBRPREN L.

1. Abnormal noise from chain: it is mostly because of minor parts falling into the chain. If any,
stop the equipment at the first place and take out the parts according to the noise.

2. Noise from drive unit or driven unit: the bearing maybe need to be lubricated.

3. Overheated motor: check if the equipment is overloaded, there is loose motor wire or the
motor loses on phase.

1. xR0 ZHMN\SEHRAERERS Ik, FTE2RAREN, RIEFSMUSIREI R FEE.
2. WINPT M AR ITTHI : 2B SHKTE DB,

3. BHYR: NBIRSBEOBEH, BHBEEAEDNINNEBREDEHRE,

Page 10
510



®

ngJModular

Assembly Technology

A 2 BB /Headquarters 7'M 23 B/Subsidiary Company
ik T TERETE=ZELEFALXGELTIX AMEERITA B RARBIRAF]
Add: Haiwan Industrial Area, Economic Development Zone Suzhou Modular Industrial Automation Technology Co., Ltd.
of Pulandian, Dalian 116200, Liaoning Province, China Mok ST A 7N TR AR X 25 B AR FF & X % PR ETE 7% [ 958 5
FE 1iE/Tel: +86 (411) 66316200 Add: No. 958 Chengyang Road, Chengyang Street, Xiangcheng Economic
f&E/Fax: +86 (411) 66316208 Development Zone, Suzhou 21500, Jiangsu Province, China
B F R #H/Email: sales@moduasm.com B F MR #H/Emalil: sales.sz@moduasm.com
P 1E/Website: www.moduasm.com
ixl 55 &R /International Department o ]
%E%/iTLeﬁ%Es (411) B1061685 A 7358 &b/Shenzhen Office
+86 (411) 66316207 FE T HE#A/Email: sales.shenzhen@moduasm.com

f& B Fax: +86 (411) 81981995
B8, iR #8/Email: info@moduasm.com

We reserve the right to update our product specifications and improve the production process without any notice
and obligations, please refer to the our latest catalogues from our website or contact us at info@moduasm.com.

EARREXM AT RBEASHEEFTZAHREHMNNG, FALE, BLBITEM, &

B S5 k] S S Lofes s EELE]) e
FhETRNE T R uh T AR 516 e B g



